# **Apartment in Zejtun**



Zejtun, South



€280,000

Total Rooms: 7

Bathrooms: 2

Floor Area (m²): **105** 

Reference No: 240221028-1903

Bedrooms: 2

### **Apartment - For Sale - Zejtun**

Zejtun - A brand new block currently under construction and being offered semi finished. This property is situated close to amenities and on a quiet road. Property comprises of an open plan Kitchen, living and dining area which lead to a front balcony, 2 double bedrooms (main having a walk in wardrobe and an ensuite Shower, a main bathroom and a box room. Freehold.

#### **Features**

- Ceramic Floor
- Gypsum Plastering
- Skirting
- Double Glazed

- En Suite
- PVC Piping
- Passenger Lift
- Balcony

#### Rooms

- Kitchen/Living/Dining: 7.7 x 4.5 m (34.65 m2)
- ✓ Double Bedroom : 4.8 x 3 m (14.4 m2)
- ✓ Walk In Wardrobe : 2.3 x 1.6 m (3.68 m2)
- Shower Ensuite : 2.5 x 2.1 m (5.25 m2)
- ✓ Double Bedroom : 3 x 3.4 m (10.2 m2)
- ✓ Bathroom : 2.4 x 2 m (4.8 m2)
- ✓ Box Room : 1.6 x 1.6 m (2.56 m2)
- ✓ Hallway : 5.8 x 1.2 m (6.96 m2)
- Open Space : 1 x 4 m (4 m2)

## **Gallery**





Manuel Borg RE/MAX Excellence - Piazzetta

M: 79494425

E: manuel@remax.com.mt

T: 21341341

**RE/MAX Excellence - Piazzetta** 114B,Tower Road, Sliema, Malta